
 

 

I/ LISTENING SKILLS  ( 8 marks ) :                                                                                                                       
A° COMPREHENSION QUESTIONS ( 5 mks ) :                                                                                                     
1° Tick the right answer ( 1 mk ) :    

 

The son suffers from 

a- Overweight               (  .  )  

-related health problems 
b- tobacco smoking       (  .  ) 
c- pollution                    (  .  ) 

                                                                                                                                                                                  
2° Answer the following questions with details from the listening passage ( 2 mks ) :                                                                          
a° Why doesn’t the mother allow her son to walk or ride his bicycle ? Pick up one reason : 
……………………………………………………………………………………………………………………………………                
b° What does the son do after school ? 
……………………………………………………………………………………………………………………………………              
3° Fill in the table with the appropriate information from the listening passage ( 2 mks )  :  

Speakers Pieces of advice 

A mother and a ……………………………… 1st : Reduce the crisps                                                                     
2nd : Increase the amount of fruits and vegetables                          
3rd : ………………………………………………………………   

B° FUNCTION ( 1 mk ) :                                                                                                                                                
Match the underlined language structure with its appropriate function. There are 2 extra ones ( 1 mk ) :  

1° Perhaps if you reduce the crisps    1  +  . 

a- Strong advice  b- Prohibition c- Uncertainty 
 C° SPELLING ( 1 mk )  : Fill in the blanks with the right spellings of the missing words ( 1 mk ) :                                    
We like to …………………………  five portions.                                                                                                                                        
OK. I see, is there anything …………………………  apart from ?                                                                                   
D° PRONUNCIATION : Find in the listening passage two words with the following sounds ( 1 mk ) :  

aʊ əʊ 

……………………………… ……………………………… 

 

 

  

  

  



 

 

II° LANGUAGE ( 12 marks ) :                                                                                                                                   
1° Match a sentence part from A with another one from B to get a coherent paragraph.                                          
There is an extra part in B ( 2.5 mks ) :  

Teens across USA are burning up about the number of young people who start smoking each year.                                       
In West Virginia, a teen is fighting against tobacco use.  

1- In this state alone, more than 2.000 kids 
younger than 18 become smokers each year,  

2- Teens start smoking even though national                    
and state laws  

3- Tobacco companies neither can use 
cartoon celebrities to advertise their 
products to kids, 

4- If cigarette manufacturers don’t advertise                 
to kids  

5- However, even though tobacco advertising 
is not aimed at children,                                                
1  +  .  /  2  +  .  /  3  +  . /   4  +  .  /  5  +  . 

a- It can still catch their attention. 
b- forbid the marketing and sale of 

tobacco products to youths. 
c- and the situation there is not                     

that different from other areas                       
of the country. 

d- smokers themselves are more likely                 
to quit  

e- cigarette sales might drop 20 
percent.  

f- nor can stores sell tobacco 
products to kids. 

2° Circle the right alternative ( 3 mks ) :                                                                                                                    
Saving certain recyclable materials and taking them to ( recycling – recycled – recyclable ) centres has 
become part of the daily routine in many homes. In my opinion, this should be encouraged for a number of 
reasons. Our towns, rivers and seas ( become - will become  - are becoming ) more and more polluted with 
household waste. This could easily be ( prevented – preventable – preventive )  if people took the time to 
sort, save and recycle their rubbish. Hundreds of thousands of trees are unnecessarily cut down to make 
paper products. Again, by recycling the paper that we would otherwise throw away we could reduce this 
wastage. They say that special machinery is required and that many people have to be employed to operate 
it, thus making recycling more expensive than simple waste disposal.                                                                          
They forget, ( instead - therefore – however ), that recycling both creates jobs and is beneficial                                
to the environment. All points considered, I strongly believe that people should be made                                                           
( aware – careless  – indifferent )  of the benefits recycling can bring, and should be encouraged to be 
responsible ( about – of - for ) improving their neighbourhood environment and take part in programmes 
that will help create a cleaner world for everyone in the future.                                                                                                                       
3° Fill in the blanks with 6 words from the list below ( 3 mks ) :                                                                                                
fertilizers   -   bins   -   lead    -   contribute   -   reuse   -   extinct   -   endangered   -   preserve                                  
As inhabitants of the earth we all have a duty to  ……………………… the environment. Together we can 
save  ……………………… species and the rain forests. We should ……………………… to environmental 
protection by finding new ways of using products we throw away. So, what can we do to help our 
environment? We can sort our waste by separating it and then taking it to the appropriate 
…………………………. We can ……………………… things such as jars and envelopes. We can buy  recycled 
products like stationery. We can transform our waste food into a compost heap which we may use as  
……………………… for our gardens later.                                                                                                                                                                                                   
4° Supply the right tense or form of the bracketed words ( 3.5 mks ) :                                                                                            
Fewer teens are smoking cigarettes than ever before. But in recent years another trend has replaced it. 
More middle and high school students now use electronic cigarettes ( vaping devices ) than any other 
nicotine-containing product. Even though e-cigarettes are believed to be ( safe ) ………………… than 
tobacco, scientists know very little about the risks associated with them. Most troubling: Almost all                              
e-cigarettes contain nicotine, the same ( causing high  level of addiction ) ……………………   chemical 
found in tobacco cigarettes. ( Incredible ) …………………… , there was once a time when people didn’t 
know the dangers of tobacco cigarettes. Up until the 1950s, doctors were frequently shown in ads 
promoting smoking. Now we know that tobacco smoke contains thousands of ( poison ) ………………  
chemicals, including at least 70 known to cause cancer resulting in 480,000 U.S. ( die ) ……………                        
each year. E-cigarettes are still so new that scientists haven’t had time to determine all of their                                   
( affect ) ………………………… . Recent studies have revealed that some e-cigarettes release other toxic 
materials, such as cadmium, a metal that can cause ( breathe ) …………………………  problems.  


